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BapianTt 1

y=4log, (x-10) .

Bapianr 2

y=qJlog,s (x+4) .
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Bidnosiods:

4°**, Posp’skiTh HepiBHOCTI:

Bapiamrt 1

a) 1g®100x-7lgx>8;

6) log,,(x-1)+log,,(x+3)=-1.

BapianTt 2

a) 1g®10x-1gx>3;
6) log,;(x—-1)+log,,(x-2)=>-1.
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Nlata Ouinka

Camocriiina po6ora 14. Jlorapudmiuni mepiBrocTi

1°. PosB’sxiTs HepiBHOCTI:

Bapianr 1

a) log,x>2;

6) log, x<1;

B) log, (1-x)<2;

r) log,;(2x+4)>-1.

Bapianr 2

a) log,x>3;

6) log,x<1;

B) log,(3-x)22;

r) log,; (8x-2)>-2.

Bionosidv:

2°°, Poss’stokiTh HepiBHOCTI:
Bapianr 1

a) log,,(x-3)2log,,(2x+7);

6) log,, (¥ +x)>-1.

Bapianr 2

a) log, (6-3x)<log, (8—x);
+ 1

3

6) log,(x?-4x)<5.

Bidnosidv:
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